
Pre-Calculus - Honors Lesson 79

Homework #79 Answers

From Hougtrron-l{rifflin Precolculus 3td Edifion

'P736-737,
14)x= ! - 2t,y = 2+31, l"tequotionbecomes: f =(x -3r/-2

y = 2 * 3[(x - 3)/-2)l or y = G3/2)x + t3/2

15) x = (l/4jt, y = t2, l"t eguotion becomes: t = 4x
y = (4x)Z or y = l6x2

18) x = f, y = t - 1, l=t eguotion becomes: t = x2

Y=!-x?

20) x = ft - 11, y = t + 2, 2ta eguotion becomes: t = y - 2
x=l(y-2)-11 or x=ly-31

21) x = 3 cos e, y = 3 sin €, cos O = x/3,sin g = y/3
sinz O * cosz e = xz/g * y2/9, x?/g * y"/9 = !, x2 * y2 = 9

37) x = X1 + t(xz - xr), y = t1 + t(yz - yr),
lst equotion becomes: t = (x - xrV(xz - xr)

y = yr * [(x - xi/(xz - xr)](yz - yr), y - yr = m(x - xr)

38) x = h + rcosg, y = k + rsinO, x - h = rcosOondy'- k = rsinO
(x - h)t = rz cost e

* (y - k)" = r" sinz g.

(x - h)t * (y - k)t = rt(cosze* sinzO), (x - h)t + (y - k)z = r2

39) x = h + ocos9, y = h * bsinO, x - h = ocosOondy - k = bcosg
(x - h)t = o2 cos2 o ond , (y - k)2 = bt sin2 o
(x - h)a = cos2 e

C2!
*(y- k)2 =sinzo (x- h)2*(y-k)2= 1

6z'o2gz

,+O) x= h+ose9O, y=h"bton0,'x- h=osecOondy- h=btong
(x - h)2 = 02 secz g ond (v - kf = b2 tonz o
(x - h)z = sec2 g

02

-(y- k)2=tonzo (x- h)2-0r- k)2 = I
5z 02 b2


